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Introduction to 11T NXT" = 23T 19

This chapter begins with an analysis of the special status of a 1917 831 (baby delivered via Caesarean section) and continues (and concludes) with a presenta-
tion of stage-development, specifically with regards to viability and validity of acts committed by, and upon, a child of varying ages. Although the major focus
is sexual (earliest age for na%, AN*2etc.) there is a protracted discussion about 07772 Ny — the age at which a 772 taken by the youth is “in limbo” and we
inquire as to the fitness of the child to make a 77.

39.5.1

40a (8 mwn) 2 41b (KNI8 8P5YD NION)

v, o0 8777 117D TY RRY? A2 YA 52) ANTIZ "IN D02 NYIY ATP33 N3t M7 DT N "IN 02 YR .

2,2 4777 IRROD ANIT NTI 7D DR NPIY RNV 12T NP2 Y'HD *D YR INRY HRIY? 22 HR 737 .

7,22 87710700 N7 YY YN D0 NYY) DY YY) ANTID DYIY NRNVY TN N1 DR) .

7,22 877711097 DR TYIN YR NDY YR NRYNY 90 IR M 123 NPHY IMY 12 Y2 RN NAY IR (3P MDY N NRYNI .
v, o227 TIRE 712 TN KDY T79Y 1522 TIPN KD POYR ‘N WIIPR 1210 IR TIP3 TP UK 11920 9 .

72,37 4777’12 YR 1279 DR IRYDI O1PNYD DN IDKR NND DY NPIY 71701 TH? 02 1Y IR 2RI IR Y .

2,37 WOYYY NN OPRYD DY AR DY 1202 DN NYIY TIRRY TIW7 nvyn 12 .

7,22 4777:02232 IR 212 DT NVA DRT PRT PR NINVY 1YY 1921’0 9% 1P .

2,7 %777:92 TPIR NAMD WRY IR0 TY 12290 Y2 narmn YY NN YY nhn RIN NPV NIIR NRT IDRY 112 NRY IR DRI .
2,4 ¥777: 021277 DR A1IPD IRED 19 P2 19 NHDAD 19 'NY 127 0N 1P 72 DR DNPR NINRY DRIY? 222 R 131

7,2 4777:00Y 3P0 DPIY NN VAT VPR IR MNP RN 1PY AIPH IR ADYIY MR NPA MIT NUR DR 1292 TR UR).

19,10 o8P0 TN TYR T3 70121 TNIAYIN 22193 93 HP1 PIANKN TP PHUINZ TN NIM THYD) 1990 192 /N OITR IR 1.

I x mwn: status of 1917 &¥; (distinction between M/F for 1amn nr2vn nrmv - will be picked up on p. 34; 2 mwn on p. 35)
a D997 no NTY NRMY (PNo 1INV M, No NTYHY 117P)
i Reason:v.2—nwia only applies if she gives birth from place where she was y*m

1

v interprets v. 2 as meaning that even if she only “births” something like a yar (®'9w) still 1% nxrnv

b " considered full N1 for all consequences
i Reason: v. 3 — extra 79n extends to Caesarean section

1

7237. v. 3 extends to momv and hermaphrodite (also nT% ")
(a) Anticipating: v. 2 (31) and v. 3 (nap1)
™. per Y"11- gets that from 129 and nab (v. 4)
(a) a7 v.4isneeded to establish a separate 1297 for each son and daughter (even if “born” during 1mv )
(b) @~ infers from v. 5 — nT5Yn NN nrt -1 127p for multiple births; not for 1 born before nxkYn and one after nxYn
(i) a7 need both vv. 4 and 5 — ®"10 multiple nayn for separate pregnancies, but not twins (like x»n "3 »11) who
are separated by more than 40/80 days — 5"np that even there there are multiple nn2a1p
72 7. w™ would not apply his ruling (equating 1917 R2v to T90) to WP (DWTP TON born 1M17 R¥Y aren’t wIpn)
(a) Per: npY::n Y from M2 (vv. 5-6; just as nnna 7131 is only that which is on1 V19, so too with DwTp NnNa)
(b) Challenge: why not infer n%::n7 from people and consider it vTpn
(i) Answer: Mmaais a closer model, per vv. 6-7
1.  Challenge: DR is a closer model, as both are vVIwa (not limited to firstborn)
(if) Rather: 131 is a closer model in 5 ways — "DR” mentioned, both are n*wTp and v"1a applies
(iii) Challenge: 01X is a closer model, as it applies to all (011w9), M & F (721), not inherently holy (¥11p) and not au-
tomatically given to jn3 (ninn)
1. Answer: m31has 5 points of commonality (over 4 points for nTR)
(c) Support for pam12 77 (X37): from ®n1; dispute w"1/nMn 1 re: expansion of D'y from v. 9
(i) Critical point: includes 1917 X%y among those excluded by nynw A
(ii) Assumption: this refers to 1977 X¥y of DWTp (i.e. born of WP NNNI as 1917 RXY)
1. Counter: perhaps it is 1937 R¥v of a 7122
2. Rejection: that is excepted via “pna 105"
a.  Counter: »WTp is also excepted via "mR” (as above)
b. Analysis: must be DwTPT 1917 ®XY; 1 for “born to »WTP” other for “PHINT 1917 KXY W THN”
i.  Support: rest of kn» 1 excludes »a71 ,7ay1 etc. — which are all excluded via v. 10; ©&Y3 from v. 11
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ii  Related 812772 2:0 N1 ®Rnoon — if a woman has "wp then gives birth 1917 r¥vy
1 opom: she is considered 2112 N9y and b7 that comes “from there” is Xnv
2 w”r sheisn’t considered 2112 n79y and o7 that comes “from there” isn’t ®xnv
(a) First half: they follow their own approaches
(b) Second half (p7): what is disagreement?
(i) Answerl (X2237): case where 791 was born 1977 X¥v but 0T came from on; each following his own position
1. Counter (9o1 37): then it is same as first half; in addition “own” implies 0T comes from 1917
(ii)) Amnswer2 (9o 27): both 07 and 791 came out 1977 717
1.  opom pnis itself XNV =PRNL DT
2. w”: Mpnisn’t inherently Xno =710 07
3 Dispute »1/57aw1. whether n'non would declare woman to be xnv
(a) wp5 2 pwpow 71 if D7 is RNV, woman is RNV (D'nIN affirm; w” would reject both)
(b) 721122 7. even according to ©naN, 0T is NV
(i) Per: 1y 7’s citing »”aw1 on v. 11 — 07 is only XnY when it exudes from nIy oipn
4 Related 8°mof 572w if a uterus came out, she is NXNY, per v. 12
(a) Cannot mean: 't nRMY — the NN stipulates 07, not a piece of flesh
(b) Rather: must mean 217 NRMVY, as NTI YN
5  Related 8°pof a1y 1. if a pn “sweats” two clear drops, she is nrnv
(a) Cannot mean: 't nRMY — the Na%n stipulates 5 shades of blood and no more
(b) Rather: must mean 199 NRMV, as NTI Yan
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